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3.4-4
0.16 1.42m¥/ /
3.4-4
1 1
m m?
a m® b b = a
1 H19.10 106 1,787 130 1.23
2 H19.12 120 2,599 171 1.42
3 H20.02 119 2,599 101 0.85
4 H20.04 56 1,660 14 0.25
5 H20.06 28 1,660 4 0.16
6 H20.10 13 1,660 4 0.32
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1.1.2

1.1-2
1.1-2
1 2 3
2009 2010
10 26 11 2 8 6 25 30 9 14 9 16 10 16 18
11 3 7
1.1.3
€))
NPO
( )
( )
@
1.1-2

®

1.1-3

L/h/ 83 620 L/h/
0.10 /100

4.07



/100 83 95 L/h/ 620 L/h/

L/h/ 320 1,600 L/h/

1.1-3
h L 7100 L/h/

1 1 73.5 7,000 0.10 95
2010 6 3 54.0 21,000 0.18 390
2 1 42.0 15,000 1.50 360
2010 9 2 93.0 25,000 1.99 270

3 112.0 69,600 4.07 620
3 1 12.0 1,000 0.10 83
2010 10 2 32.5 4,600 0.37 142

3 70.0 31,400 1.84 450
1 1 20.0 6,300 0.09 320
2010 6 2 61.5 96,600 1.13 1,600

3 117.5 109,600 0.94 930
2 1 3.0 2,000 0.20 670
2010 9 2 7.5 4,000 0.32 530

3 12.0 10,000 0.58 830
3
2010 10 3 16.0 10,000 0.58 630
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2.1-2
€))
3 2.1-3 2 5
L/h/
60 310L/h/ 451
( 30L) 2 10 /W
260L/h/
70 100L/h/
180L/h/ 2010
( 2 )
( 4 )



